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1. Information can be retrieved from the Internct using the following search tools

EXCEPT:

a. filc transfler protocol b. world wide web
c. wide area informalion servers d. usenct newsgroup
e. Archic.

2. Following are benefils to intranet { {i> 350l ) EXCEPT:
a. deliver up-to-date information on customers, and product inventories
b. cost-effective communication tools
¢. support group work
d. replace complex business applicatibns such as accounting and manufacturing
¢. eliminales paper, printing, and distribution cost.

3. Which of the following does NOT require a [irm 10 be responsible for managing its

telecommunications?
a. LAN b. WAN
c. VAN d. MAN

e. none of the above.
4. Which of the following is not a fealure of ELM?

a. Cansistent b. Flexible
¢. Fast d. Efficient.
5. An effective method of reducing business travel is by using:
a. e-mail b. voice mail
c. videoconferencing d. EDIL
e FAX.
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8000
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i .

Profit per frame . 09 . $9.200.00
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+ What is the value of the following C expression? Whal is its data type? {(4%)

6/4720+(7T*8%9)*12
What oulput is displayed by the following program: (6%4)
mainl
{
double x, ¥y:
int z;

b 16.9;
¥ 2.5;
z = 0Q;
while (x » y) |
X —= ¥;
T+
]
printf(™%d, %g\n™", z, Xl
!
Write a C program to initialize the contents of the array “mixArray” using
loop(s): (10%)

[0 [ 1[4 [J 16353715167 ]85 [i05]

75 - Assume a book can be described using the following information: {1} the title; (2)

i

i

a list of up to five authors; (3) the Library of Congress catalog number; (4) up to
live keywords; (5) the publisher; (6) the year of publication. Declare a structure
of C for a book. (5%}
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